EARAROBEEIERT — 2 N— IBISH —F 2015578268 (B) 2E{358H

mggT VOP #—7> #5%3%L (ER) (8% 7T [l [mmem -~ 2 ) oo a
[A&4] 1 7 :23,000,000 § 2 3#%:9,200,000 33 :5,800,000 4 7% :3,500,000 5 & :2,300,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— - R . 54— [EETES
YISTILTF 4 — 4 7 57_07- 1.(4_6).9 5-5-4-3 | 35.2]106.0 | 10 (‘_1:2) (H’()mé <(ff>7—;<
L:Fq—TA2NT ~ B:e&L T4 —T/N— BEBS
4 6 | FlBEX 1:46.9 12-12-7-8 | 34.5 | 105.9 | 1 456 | EEFE (BR)
EX MY AV 57.0 (7€) (t4) |EERF
L:F=TA2NT N B:TUUT L IRY — VER WL EIN
S s LERAH : 34— BE—% (F%)
2aARNTYTv—Jb it 5 ke (17;12% 3-3-4-3 |35.3|106.0| 5 z:g;@ i ?{(77\/ X
L:AN=32JKR—L B:vab3-F> HO %8k
e HBE : 77— E#ER (EiH)
L IS E—O— #H 5 2 1(.5%0 7-7-7-6 | 34.7|104.9| 3 (5_026) i
:yA7% B HNTF-Zb HET7—L
AEEE 147, ~5-6- . . NEK (EH)
Ta<HI T 4 8 e 1(14/72; 5-5-6-6 | 35.2|103.9| 4 (422) ol
L:viNnNyBgLhTr B:HAU—-/HhTx EOHS
= JIHEEE :47. —1-2- . 2. 2 o | KFIEKR (EH)
6lsl6l3FLy b i 5 oF 1(417)3 1-1-2-1 | 35.9 | 102.0 tg) g b
R:ZXHTLR B/ TEy b EEEDL ¢
N TN #1138 : -10-10- JEFEH (H75)
715l 5| BEIYEL REL 2 i o6 i 1(.14/72.>4 9-10-10-10 | 34.5 | 100.8 | 12 (5_060) j(ﬁ@éﬁ(@ e
L:Urh—2 BVILRILE Y — Al R
=% 7 = 4 6 | KEFHRIR 1:47.4 10-11-10-10| 34.4 [ 100.8 | 6 490 |®/IEZ (EBR)
8|8|12| Y717 5.0 (7€) (e | (&) ¥rmEyhTr—L
R:7Q7% B:vxFHhxI>TAO J =Y Ty —L
- s HZIEH 147, —-8-9- . . =2/ (FR)
9l7l 9| Ty 7RAKU—£L > 8 4 (11417/26) 10-8-9-9 [35.1] 98.7 | 8 (12) EEE%L
T RYAYYy X BRU—3I>TLAF BEIZY K
S R — # 5 | HUHE 1:48.0 2-2-1-2 [ 36.6| 95.4 | 7 492 | FINE (ER)
0]/ K BARZLE: S 56.0 2 1/2) (rg) | fBETS
R:w>Nya>h71 B:IZFx EEAS
. N 1ERERAI . -8-12- REEE— ()
1118111 RU—LISZAy R 4 8 e (11.4;.3 7-8-12-12 [ 35.2 | 91.5 | 11 (4_610) e (
L XAFA4d=IV K BEYVZy I L—F "HI7—L
¢ FiBlE : -3-0- HEZR (E#)
1 2|7k —n it 6 e 1.(418).5 3-3-2-3 [ 37.0| 90.9 | 9 <4+724) R
LT w TRy b BiTANRY Y — pNCtie]
@ 71 L
) 47.0-35.5
NA>Z4 L | 12.5-11.5-11.7-12.2-12.0-11.5-11.8-11.5-12.2
® I —F—EBIERL
13—3+— |6,10(1,7)(2,8) (3,11)-5(9,12)4
2= = 6,10(1,7)-(2,8)-3(9,11)5,12,4
Gol=5r= (6,%10,7) (1,8)2-(3,4)9-(5,12) 11
43—+ — (x6,10) (1,8,7) (2,3)4,9(5,12)=11
[ N3
H OB 8 2,200/ 714K 4-8 890M e E 4-6 1,840 JEHE 1-4-8 7,930/
8 B 8 450M 1-8 2,220 B E 4-8 3,080M B 8-4-1 58,2004
4 1704 1-4 590M B H 8-4 8,890
1 290M

ABICOVWTRDTEEERROODE. TR LIV,



